Vo4

A L B =
2 K B 4 EREWIEN 1 mE4E 2 N € #B 1,576,800
(FRiAH)
A#f = B ERE 26 £ 6 A 26 A F OE M O 2,316,000
FEATHARE (HAR) ERi26E6H26H ~ FRL265E9A30H AFLE L8 4% (100/108) 2,144,445
% fLox F tF—TFURN— X%t 3 EE X% -
LE 84 (100.7108) -
T £ 5 — 2 AL b3 68.08%
A*#L&%5(100/108)
E S B OE
%=1 E 20 £ 30 VAL E5[H
1 |[2F—7oRNR—o Xt a4t 1| 1,460,000 %L BEF AL
2 [BEPEEKRASH 3| 3568500 FEAAL
3 |t TRT 5| 5,500,000 BEFAFL
4 |[HXEt=FEMAT 4| 5,160,000 BEFAFL
5 |1MXESHEARKIRT 2| 2,640,000 BEFAFL
6
7
8
ARLBIT AR BER UsE BN EE




